= % a+b o gol i shue?

1
® 2x+1)x2=ax+b @ —g(—12x—6):ax+b
1 1
® (6x+6)x§:ax+b @ (—x—|—3)+§:bx+a

® Ax+1)x2=bx-a



of® Ao] 2x + 55 Fefol ¥ AL FRAA MAEY 4x— 6 o]
Holet. g7 ANE A2 m=w?
D dx-6 @ 6x-1 ® 6x+3

@ Sx+4 ® 8x+9



® 2(1-x)-3x=0
@ 24+ x-2x2=1+2x2

B 3x+24+4=x+6<+2x

@ 4dx+8=4(x+2)

@ —2x = 3x + 4x2



o) Ape] 2217} 6 o] 3 A 2e] S22t x Q1 A o ATt
oIt} A1) AFelo] kot Qo] Ahel o] SAbE HHRE A e} 18

o] Atk T W, 4G 48 T Ao S AL

D 6+x=x+6-18 @ 6x+ 18 = 6x

® 6+x+18=6x @ 60+x-18=10x+6
® 60+x+18=10x—+6



3 EAL AYE A2 42447, 6454 AT 9)ek. Fo) 5
1 7b o] 471 5g0] 1 ] 4o

o 227G Folo} 51717

© 47 @ 5 A% ® 6 AT

@ 12 A= 3 36 A=



6. x o A%7h2 9l QApAol glek x=3 P u), 49 FSa,x=5 Y
W, A1) gh& b 2 B o, b o] gHe T2

D -4 ® -1 ® 0 @ 2 B 5



o x of gt AAFA A 4x — 3 & HFloF & A2 FEsto] wWitiy
x4 5 7h Fl9ek, AL Ao 4x -3 & Hoto] £ Ak A
FotH?

D x-7 @ 19x+5 ® 15x+8

@ 19x -1 3 3x+11



8. H23F 22729
® 3a = 2b0]H g

@ g:bol‘?’ia:%
® a=-20°1Ha-3=-2(b-3)
@ a=b0lH2a-1=2b+1

B a=-bolH10—a=5b-10



@ 159cm

3 162 cm

® 160cm



10.

2017k 120 m ©] 1, AT 20 2 LaqsH 7147} 1320 m ©] €]
o 5] Sol7} 25 2 B Kol ghghet. o] 7|3} whe el A

=7t

2z @ 21x @ 22 %

a-

@ 23 % ® 24 %



